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(- ) PaaS (platform as a service)
(= )4&4% Hit=(push technology)
(=) % sl (block chain)
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class A { class B extends A {
public int a0; private int bl;
private int al; private int b2;
public void m1(){al=1;} public void m2() {b1=5;b2=2;}
public void m1(int x) {al = x;} public void m3() {a0=m1(b1);} }
public void m2() {al1=3;} }

(- )it class Am T HeA 0 (64)
(1)#t % (encapsulation) (3 » )
(2) #-i(inheritance) (3 4 )

(= )it classA ~classB 3P 1 T pek 0 (44)
(1) & & (overriding) (2 )
(2)42 §* (overloading) (2 4 )
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if (t<>NULL) then t->leftchild t->rightchild
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